reset +
Irx_block_lock<x> | first_rx_LPI_active
AM_LOCK_INIT

am_lock<x> < false
test_am « false

UCT

AM_RESET_CNT

v
QUICK_FIND

test_am « false
first_am «< current_am

am_valid lam_valid

am_invld_cnt < 0
am_slip_done < false

test_am

FIND_1ST

test_am «< false
first_am «< current_am

lam_valid am_valid

am_counter_done

v v

COUNT_1
start am_cou nter

am_counter_done

COMP_2ND

L

curent_am =
first_am

2_GOOD

am_lock<x> « true
lane_mapping<x> <=
current_am

UCT

I

COMP_AM
curent am = curent_am =
first_am first_am
GOOD_AM INVALID_AM

am_invld_cnt <0

UcTt

am_invid_cnt< 4

COUNT 2
start am_counter

curent_am !=
first_am

am_slip_done

1

am_invld_cnt ++

am_invld_cnt=4

SLIP

am_lock<x> «< false
AM_SLIP

NOTE— am_lock<x> refers to the received lane x of the service interface, where x = 0:3 (for 4A0GBASE-R)

or 0:19 (for 100GBASE-R)

Figure 82—-1—Alignment marker lock state diagram
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